M-A1-6-2_Calculate LOBF Worksheet and KEY

Calculate the Line of Best Fit Worksheet

1.  The correlation between the fat grams and the total calories in fast food

a)  Use the data below and graph a scatterplot on a separate sheet of graph paper.
	Sandwich
	Total Fat (g)
	Total Calories

	Hamburger
	9
	260

	Cheeseburger
	13
	320

	Quarter Pounder
	21
	420

	Quarter Pounder with Cheese
	30
	530

	Big Mac
	31
	560

	Arch Sandwich Special
	31
	550

	Arch Special with Bacon
	34
	590

	Crispy Chicken 
	25
	500

	Fish Fillet 
	28
	560

	Grilled Chicken
	20
	440

	Grilled Chicken Light
	5
	300


	



b)  Is there positive or negative correlation?





c)  Draw in the line of best fit.

d)  Write the equation of the line of best fit:









e)  What does the slope represent?









f)  What does the y-intercept represent?







2.  North Latitude vs. April Average High Temperature

a)  Use the data below and graph a scatterplot on a separate sheet of graph paper.
	City
	North Latitude
	April Average High Temp

	Lagos, Nigeria
	6
	89

	San Juan, Puerto Rico
	18
	84

	Calcutta, India
	23
	97

	Cairo, Egypt
	30
	83

	Tokyo, Japan
	35
	63

	Rome, Italy
	42
	68

	Belgrade, Yugoslavia
	45
	45

	London, England
	52
	56

	Copenhagen, Denmark
	56
	50

	Moscow, Russia
	56
	47



b)  Is there positive or negative correlation?





c)  Draw in the line of best fit.


d)  Write the equation of the line of best fit:









e)  What does the slope represent?









f)  What does the y-intercept represent?







Calculate the Line of Best Fit Worksheet Answer KEY

1.  The correlation between the fat grams and the total calories in fast food

a)  Use the data below and graph a scatterplot on a separate sheet of graph paper.
	Sandwich
	Total Fat (g)
	Total Calories

	Hamburger

	9

	260


	Cheeseburger

	13

	320


	Quarter Pounder

	21

	420


	Quarter Pounder with Cheese

	30

	530


	Big Mac

	31

	560


	Arch Sandwich Special

	31

	550


	Arch Special with Bacon

	34

	590


	Crispy Chicken 

	25

	500


	Fish Fillet 

	28

	560


	Grilled Chicken

	20

	440


	Grilled Chicken Light

	5

	300



	



b)  Is there positive or negative correlation?
positive


c)  Draw in the line of best fit.


d)  Write the equation of the line of best fit:
y = 11.73x + 193.85 (from calc)


e)  What does the slope represent?
For every gram of fat, the total calories increases by 12.


f)  What does the y-intercept represent?
  If there were 0 grams of fat, there would be 194 calories.
2.  North Latitude vs. April Average High Temperature


a)  Use the data below and graph a scatterplot on a separate sheet of graph paper.
	City
	North Latitude
	April Average High Temp

	Lagos, Nigeria
	6
	89

	San Juan, Puerto Rico
	18
	84

	Calcutta, India
	23
	97

	Cairo, Egypt
	30
	83

	Tokyo, Japan
	35
	63

	Rome, Italy
	42
	68

	Belgrade, Yugoslavia
	45
	45

	London, England
	52
	56

	Copenhagen, Denmark
	56
	50

	Moscow, Russia
	56
	47



b)  Is there positive or negative correlation?
negative


c)  Draw in the line of best fit.


d)  Write the equation of the line of best fit:
y = -.984x + 103 (from calc)



e)  What does the slope represent?
For every degree farther north latitude, the average April high temperature decreases by about 1 degree.
f)  What does the y-intercept represent?
At North Latitude of 0 (equator), the average April high temperature is 103 degrees.

